
Q.1 The folk song Sohar is usually sung during ________.

Ans 1. funerals

2. festivals

3. childbirth

4. weddings

Question ID : 764584927
Status : Answered

Chosen Option : 4

Q.2 करनाल का यु� कब लड़ा गया था?

Ans 1. 1757

2. 1752

3. 1658

4. 1739

Question ID : 764584946
Status : Answered

Chosen Option : 4

Q.3 Who is called Sher-e-Kashmir?

Ans 1. Jawaharlal Nehru

2. Sheikh Abdullah

3. Bal Gangadhar Tilak

4. Chittaranjan Das

Question ID : 764584941
Status : Answered

Chosen Option : 3
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Q.4 �शशुनाग राजवंश क� राजधानी __________ है।

Ans 1. पाट�लपु�

2. पुहार

3. राजगीर

4. त��शला

Question ID : 764584947
Status : Answered

Chosen Option : 1

Q.5 As per WTO, world trade growth slowed down to ______ in 2018 from 4.6 percent in 2017.

Ans 1. 3 percent

2. 3.6 percent

3. 2 percent

4. 4.1 percent

Question ID : 764584951
Status : Answered

Chosen Option : 4

Q.6 Partition of Bengal was announced in ________.

Ans 1. August 17, 1905

2. July 19, 1905

3. October 16, 1905

4. March 12, 1905

Question ID : 764584936
Status : Answered

Chosen Option : 4

Q.7 The headquarters of International Atomic Agency is located in _________.

Ans 1. Paris

2. London

3. Vienna

4. Geneva

Question ID : 764584950
Status : Answered

Chosen Option : 4

Q.8 The author of 'Lone Fox Dancing' is ________.

Ans 1. R. K. Narayan

2. Natwar Singh

3. Vinay Satpati

4. Ruskin Bond

Question ID : 764584939
Status : Answered

Chosen Option : 4
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Q.9 प�लव� क� राजधानी __________ थी।

Ans 1. त��शला

2. पाट�लपु�

3. राजगीर

4. कांचीपुरम

Question ID : 764584938
Status : Answered

Chosen Option : 3

Q.10 ________ was the first winner of Premier Badminton League.

Ans 1. Hyderabad Hotshots

2. Delhi Dashers

3. Mumbai Rockets

4. Bengaluru Raptors

Question ID : 764584945
Status : Answered

Chosen Option : 4

Q.11 Deknni is a popular art form in ______.

Ans 1. Maharashtra

2. Goa

3. Punjab

4. Uttar Pradesh

Question ID : 764584926
Status : Answered

Chosen Option : 2

Q.12 Who is the author of the book ‘Citizen Delhi: My Times, My Life’?

Ans 1. Madan Lal Khurana

2. Sheila Dixit

3. Arvind Kejriwal

4. Sushma Swaraj

Question ID : 764584952
Status : Answered

Chosen Option : 2

Q.13 �दसंबर 2019 म�, सुर�ा मामल� क� कै�बनेट स�म�त (CCS) न ेचीफ ऑफ �डफ� स � टॉफ (CDS) के पद सृजन
को मंजूरी द�। सीडीएस (CDS) के पद क� र�क _______जनरल क� होगी।

Ans 1. 3-� टार

2. 4-� टार

3. 5-� टार

4. 6-� टार

Question ID : 764584953
Status : Answered

Chosen Option : 3
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Q.14 The S.I. unit of Thermodynamic Temperature is _______.

Ans 1. Ampere

2. Kelvin

3. Candela

4. Mole

Question ID : 764584931
Status : Answered

Chosen Option : 2

Q.15 _________ was known as 'Amitragatha'.

Ans 1. Bindusara Maurya

2. Ashoka Maurya

3. Chandragupta Maurya

4. Mahapadma Nanda

Question ID : 764584937
Status : Answered

Chosen Option : 4

Q.16 We are Displaced' is written by _________.

Ans 1. Malala Yousafzai

2. Shashi Tharoor

3. Ruskin Bond

4. Vinay Satpati

Question ID : 764584949
Status : Answered

Chosen Option : 1

Q.17 �कस संशोधन न ेचुनाव �याया�धकरण� क� �णाली को समा�त कर �दया और चुनाव सुनवाई क� स�ा �न�हत कर
द�?

Ans 1. सोलहव�

2. स�हव�

3. उ�ीसव�

4. बीसव�

Question ID : 764584943
Status : Answered

Chosen Option : 3

Q.18 Simon Commission was appointed by the British Conservative Government under Stanley
Baldwin on _____________.

Ans 1. 5th June 1927

2. 8th November, 1927

3. 5th April 1927

4. 8th August 1927

Question ID : 764584948
Status : Answered

Chosen Option : 2
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Q.19 The chemical name of Prussic acid is _______.

Ans 1. Potassium carbonate

2. Magnesium silicate

3. Potassium nitrate

4. Hydrogen cyanide

Question ID : 764584932
Status : Answered

Chosen Option : 4

Q.20 Phawngpui is the highest peak of ________.

Ans 1. Manipur

2. Sikkim

3. Nagaland

4. Mizoram

Question ID : 764584934
Status : Answered

Chosen Option : 3

Q.21 In 1969, Government of India nationalised _____ major banks.

Ans 1. 12

2. 16

3. 14

4. 18

Question ID : 764584928
Status : Answered

Chosen Option : 3

Q.22 78व� संशोधन �ारा नौव� अनुसूची म� �कतने भू�म सुधार जोड़े गए?

Ans 1. 32

2. 40

3. 27

4. 55

Question ID : 764584942
Status : Answered

Chosen Option : 1

Q.23 Hirakud dam is built over _________ river.

Ans 1. Tapi

2. Mahanadi

3. Narmada

4. Sutlej

Question ID : 764584933
Status : Answered

Chosen Option : 2
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Q.24 Which of the following cities is going to host the summer Olympic Games 2024?

Ans 1. Doha

2. Ottawa

3. Paris

4. Seoul

Question ID : 764584954
Status : Answered

Chosen Option : 3

Q.25 मूंगफली का �यूनतम समथ�न मू�य (2019-20) _________ है।

Ans 1. 5090 �पए

2. 3394 �पए

3. 3710 �पए

4. 4890 �पए

Question ID : 764584929
Status : Answered

Chosen Option : 1

Q.26 भारतीय म��य अ�ध�नयम _______ म� पा�रत �कया गया था।

Ans 1. 1927

2. 1982

3. 1957

4. 1897

Question ID : 764584930
Status : Answered

Chosen Option : 3

Q.27 As of December 2019, who among the following is the Union Minister of State (Independent
Charge) of Ayurveda, Yoga and Naturopathy, Unani, Siddha and Homoeopathy (AYUSH)?

Ans 1. Prahalad Singh Patel

2. Rao Inderjit Singh

3. Santosh Kumar Gangwar

4. Shripad Yesso Naik

Question ID : 764584955
Status : Answered

Chosen Option : 2

Q.28 _______ Ocean is also known as the Southern Ocean.

Ans 1. Antarctic

2. Indian

3. Atlantic

4. Pacific

Question ID : 764584935
Status : Answered

Chosen Option : 1
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Q.29 Which team won IPL 2019?

Ans 1. Delhi Chargers

2. Kolkata Knight Riders

3. Mumbai Indians

4. Chennai Super Kings

Question ID : 764584944
Status : Answered

Chosen Option : 3

Q.30 Jean Henry Dunant is the first person to be awarded Nobel prize for _________.

Ans 1. medicine

2. physics

3. peace

4. literature

Question ID : 764584940
Status : Answered

Chosen Option : 2

Q.1 Three out of four word-pairs given below are similar following a certain criterion. Select the
word-pair that does not follow this criterion and is different from the others.

Ans 1. Tea : Beverages

2. Rose : Flower

3. Garbage : Dustbin

4. Jellyfish : Fish

Question ID : 764584963
Status : Answered

Chosen Option : 3

Q.2 उस सं�या को �ात कर�, जो 17 बार अपन ेआप म� ही जोड़े जाने पर 162 देती है।

Ans 1. 9

2. 5

3. 6

4. 12

Question ID : 764584968
Status : Answered

Chosen Option : 1

Q.3 In the given options three are similar and one is odd. Find the option that is not similar to
the other ones.

Ans 1. UXR

2. EHB

3. MQH

4. TWQ

Question ID : 764584958
Status : Answered

Chosen Option : 3

Section : Reasoning & Mathematical Ability

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.4 Two statements are given followed by two conclusions I and II. Considering the statements
to be true, please decide which conclusions follow.

Statement : 
All my friends are smart.
Shreya is not smart.

Conclusions :
I. Shreya is not a friend of mine.
II. Shreya must act smart.

Ans 1. Only conclusion II follows

2. Only conclusion I follows

3. Neither I or II follows

4. Both conclusion I and II follows

Question ID : 764584965
Status : Answered

Chosen Option : 2

Q.5 If in a certain coding, CRICKET is coded as HWNHPJY, how is FOOTBALL coded in that code
?

Ans 1. JKKYLPTT

2. NOOYTGEE

3. KTTYGFQQ

4. MKKYJLFF

Question ID : 764584961
Status : Answered

Chosen Option : 3

Q.6 A न ेकहा �क B उसके �पता के �पता क� प�नी क� ब� थी। य�द A के �पता का कोई भाई-बहन नह� है, तो B, A
स ेकैस ेसंबं�धत ह?ै

Ans 1. बहन

2. माता

3. बेट�

4. प�नी

Question ID : 764584962
Status : Answered

Chosen Option : 2

Q.7 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

Players : Team :: Artists : ?

Ans 1. Chorus

2. Council

3. Gang

4. Troupe

Question ID : 764584959
Status : Answered

Chosen Option : 2
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Q.8 In the question two statements are given, followed by two conclusions, I and II. You have to
consider the statements to be true even if it seems to be at variance from commonly known
facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some cars are rafts.
Statement 2 : All cars are boats.

Conclusion I : No rafts are boats.
Conclusion II : Some boats are rafts.

Ans 1. Only conclusion II follows

2. Both I and II follow

3. Neither I nor II follows

4. Only conclusion I follows

Question ID : 764584966
Status : Answered

Chosen Option : 1

Q.9 Find the wrong term in the following series:-

OLI, SPM, WTQ, AYU

Ans 1. OLI

2. SPM

3. AYU

4. WTQ

Question ID : 764584957
Status : Answered

Chosen Option : 3

Q.10 Jaspreet, Aditya, Garima, Eshu, Vishal and Fatima are sitting around a round table facing the
centre. Fatima is to the left of Garima, who is opposite Aditya, Vishal is between Aditya and
Jaspreet. Who is to the left of Eshu?

Ans 1. Vishal

2. Fatima

3. Garima

4. Aditya

Question ID : 764584964
Status : Answered

Chosen Option : 4

Q.11 The ages of Gunjan and Aashika are in the ratio 4 : 5. After 6 years, the ratio will become 6 :
7. What is the present age of Aashika?

Ans 1. 5 years

2. 30 years

3. 12 years

4. 15 years

Question ID : 764584967
Status : Answered

Chosen Option : 4
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Q.12 Complete the following series:-

R3, T5, V8, _____

Ans 1. W12

2. X12

3. X10

4. W10

Question ID : 764584956
Status : Answered

Chosen Option : 2

Q.13 Select the option that is related to the third term on the same basis as the second term is
related to the first term.

EHK : ILO :: DQW : ?

Ans 1. GSA

2. EUZ

3. HUA

4. FSA

Question ID : 764584960
Status : Answered

Chosen Option : 3

Q.14 A steel rod is cut into 4 pieces, in ratio of 1:2:3:4 length. Find the ratio of their volume.

Ans 1. 1:√2:√3:2

2. 1:2:3:4

3. 2:√3:√2:1

4. 4:3:2:1

Question ID : 764584978
Status : Answered

Chosen Option : 2

Q.15 A strip of LED lights contain 50 blue, 60 red, 60 yellow and 80 white LED bulbs. If 10 percent
blue and white, 20 percent red and yellow are defective find the total percentage of
defective lights.

Ans 1. 15.80 percent

2. 14.80 percent

3. 13.90 percent

4. 14.50 percent

Question ID : 764584975
Status : Answered

Chosen Option : 2
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Q.16 What is the least number that should be added to 600 so that the sum is exactly divisible by
12, 15, 16 and 18?

Ans 1. 120

2. 60

3. 130

4. 210

Question ID : 764584971
Status : Answered

Chosen Option : 1

Q.17 अ�ैल के एक महीन ेके एक घंटे का दशमलव �या है?

Ans 1. 0.002083

2. 0.002778

3. 0.001389

4. 0.0001389

Question ID : 764584969
Status : Answered

Chosen Option : 4

Q.18 Find the greatest number that will divide 288, 392 and 504 and so as to leave the same
remainder in each case.

Ans 1. 12

2. 4

3. 6

4. 8

Question ID : 764584972
Status : Answered

Chosen Option : 4

Q.19 Rekha, Hema and Kajal bought the same washing machine at the same MRP from 3
different dealers. All the dealers offered 2 discounts and subsequent cash backs after
discount. Rekha got discounts of 5 percent and cashback of 20 percent, Hema got 16
percent discount and cash back of 15 percent, Kajal got 15 percent discount and cash back
of 12 percent. Find out who purchased the machine at maximum price?

Ans 1. Rekha

2. Hema and Kajal

3. Kajal

4. Hema

Question ID : 764584977
Status : Answered

Chosen Option : 1
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Q.20 The price of 12 toy cars is equal to the price of 20 toy bikes. If 60 toy cars and 50 toy bikes
cost Rs. 18000, then what is the price of a toy car?

Ans 1. Rs. 280

2. Rs. 200

3. Rs. 160

4. Rs. 240

Question ID : 764584973
Status : Answered

Chosen Option : 2

Q.21 If x = 3y = 5z; find (x-y+z):(x+y-z):(x-y-z) ?

Ans 1. 17:7:13

2. 13:17:7

3. 7:13:17

4. 7:13:16

Question ID : 764584979
Status : Answered

Chosen Option : 2

Q.22 Find the average area of a square with side 2 cm, circle with radius 0.7 cm and equilateral
triangle with side 3 cm?

Ans 1. 4.05 sq cm

2. 3.15 sq cm

3. 3.65 sq cm

4. 2.75 sq cm

Question ID : 764584974
Status : Answered

Chosen Option : 2

Q.23 40 को एक सं�या के वग� स ेगुणा करने पर सं�या का 10 गुना घन �मलता है। सं�या �ात कर�।

Ans 1. 2

2. 4

3. 16

4. 8

Question ID : 764584970
Status : Answered

Chosen Option : 2

Q.24 What is the future value of Rs. 18000 compounded quarterly for 2 years, if ROI be 8
percent? (Round off the answer to the nearest hundred)

Ans 1. Rs. 25100

2. Rs. 21100

3. Rs. 21800

4. Rs. 22000

Question ID : 764584980
Status : Answered

Chosen Option : 2
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Q.25 A और B एक परी�ा म� उप��थत �ए। A न ेB स े12 अंक अ�धक �ा�त �कए। A �ारा �ा�त अंक उन दोन� �ारा
�ा�त अंक� के कुल योग के 60% थे। उनका ���गत �कोर �ात कर�।

Ans 1. 48 और 36

2. 36 और 24

3. 24 और 12

4. 18 और 6

Question ID : 764584976
Status : Answered

Chosen Option : 2

Q.1 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए मुहावर ेके �लए सही अथ� वाला
�वक�प है।

�म�� म� �मलाना:

Ans 1. खो देना

2. धोखा देना

3. लापरवाही करना

4. बरबाद कर देना

Question ID : 764584992
Status : Answered

Chosen Option : 4

Q.2 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस सही �वक�प का चयन कर� जो वा�यांश� के �लए एक श�द का सही
�वक�प हो।

�जसका उ�लेख या चचा� ऊपर क� जा चुक� हो।

Ans 1. �न�न�ल�खत

2. उपयु��

3. �ल�खत

4. ऐ�तहा�सक

Question ID : 764584984
Status : Answered

Chosen Option : 2

Q.3 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो शु� वा�य का सबस ेअ�छा �वक�प है।

Ans 1. �कसी को �मा करने म� ही बड़ाईपन है|

2. �कसी को �मा करने म� ही बड़�पन है|

3. �कसी का �मा करने म� बड़�पन है|

4. इसी को �मा �कया म� बड़�पन है|

Question ID : 764584989
Status : Answered

Chosen Option : 2

Section : General Hindi & English
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Q.4 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो भाववाचक सं�ा का सही �वक�प नह� है

Ans 1. परायापन

2. �वामी

3. अहंकार

4. बौखलाहट

Question ID : 764584981
Status : Answered

Chosen Option : 2

Q.5 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो को�क म� �दए गए श�द के अनुसार
सव�नाम के भेद का सही �वक�प हो।

(�जसन)े भी यह �कया ह ैबता दे।

Ans 1. अ�न�यवाचक सव�नाम

2. �नजवाचक सव�नाम

3. �न�यवाचक सव�नाम

4. संबंधवाचक सव�नाम

Question ID : 764584982
Status : Answered

Chosen Option : 1

Q.6 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए वा�य के काल का सही �वक�प
हो।

शायद हम कल खेलन ेन जा पाए।

Ans 1. अपूण� वत�मानकाल

2. सं�द�ध वत�मानकाल

3. पूण� भूतकाल

4. संभा� भ�व�यकाल

Question ID : 764584990
Status : Answered

Chosen Option : 2

Q.7 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो को�क म� �दए गए श�द के अनुसार
�वशेषण के भेद का सही �वक�प हो।

(कुछ) लड़�कयाँ तु�हार ेबारे म� बात कर रही थी।

Ans 1. अ�न��त 
सं�यावाचक

2. संबंधवाचक

3. साव�ना�मक �वशेषण

4. अ�न��त प�रमाणवाचक

Question ID : 764584983
Status : Answered

Chosen Option : 1
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Q.8 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �र� �थान के �लए उपयु� श�द का सही
�वक�प है।

�ाचीन काल स ेपरी�ा क� _________ चली आ रही ह|ै

Ans 1. �तर

2. ग�त

3. काम

4. री�त

Question ID : 764584985
Status : Answered

Chosen Option : 4

Q.9 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए श�द के �वलोम श�द का सही
�वक�प है।

तृ�णा

Ans 1. चाह

2. ताज़ा

3. आशा

4. �वतृ�णा

Question ID : 764584986
Status : Answered

Chosen Option : 4

Q.10 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो सही वा�य भेद का �वक�प हो।

जैस ेही रात के बारह बज,े वैसे ही म�ने पढ़ना बंद कर �दया। 

Ans 1. संयु� वा�य

2. ��वाचक वा�य

3. �म� वा�य

4. सरल वा�य

Question ID : 764584988
Status : Answered

Chosen Option : 1

Q.11 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए वा�यांश के �लए सही लोको��
वाला �वक�प है।

एक पंथ दो काज:

Ans 1. एक काम रा�ता अनेक

2. सारी मुसीबत एक साथ आना

3. एक को ही सारा काम स�प देना

4. एक ही काम स ेदो लाभ होना

Question ID : 764584993
Status : Answered

Chosen Option : 4
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Q.12 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए श�द के समानाथ� श�द का
�वक�प नह� है।

गाँव

Ans 1. खेड़ा

2. पुरवा

3. धाम

4. देहात

Question ID : 764584987
Status : Answered

Chosen Option : 4

Q.13 �न�न�ल�खत �� म�, चार �वक�प� म� स,े उस �वक�प का चयन कर� जो �दए गए वा�य के �लए प� के भेद का
सबस ेअ�छा �वक�प है।

बाढ़ के कारण पानी का �तर बढ़ता ही जा रहा है! 

Ans 1. सात�यबोधक

2. �ग�त�ोतक

3. आरंभ�ोतक

4. पूण�ता�ोतक

Question ID : 764584991
Status : Answered

Chosen Option : 2

Q.14 Select the word that is spelled correctly.

Ans 1. serendipiti

2. serendipity

3. serendepity

4. serindipity

Question ID : 7645841005
Status : Answered

Chosen Option : 2

Q.15 Select the correct word (HOMONYM) that fills in the blank and makes the sentence
meaningful. 

Mithun promised that he would always be _______ for the children.

Ans 1. their

2. they're

3. there

4. then

Question ID : 7645841003
Status : Answered

Chosen Option : 3
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Q.16 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given. 

The library (is a good place to studies) because it is very quiet.

Ans 1. is a bad place to study

2. is a good place to be study

3. No correction required

4. is a good place to study

Question ID : 764584997
Status : Answered

Chosen Option : 4

Q.17 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence. 

P: Science has 
Q: armed man with inventions
R: which are not 
S: less than miracles

Ans 1. QRPS

2. SQRP

3. SRQP

4. PQRS

Question ID : 7645841000
Status : Answered

Chosen Option : 4

Q.18 Select the word that is spelled correctly.

Ans 1. rhetorical

2. rhetorikal

3. rhetoricle

4. rhetorecal

Question ID : 7645841004
Status : Answered

Chosen Option : 1

Q.19 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. 

Watching cartoons all day/long is bad for/the eyes of childrens.

Ans 1. No Error

2. Watching cartoons all day

3. long is bad for

4. the eyes of childrens.

Question ID : 764584994
Status : Answered

Chosen Option : 4
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Q.20 Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the
option that gives the correct sequence in which these parts can be rearranged to form a
meaningful and grammatically correct sentence. 

P: be narrating 
Q: a story
R: I will 
S: tomorrow

Ans 1. RPQS

2. QRPS

3. SRQP

4. SQRP

Question ID : 7645841001
Status : Answered

Chosen Option : 1

Q.21 Select the word segment that substitutes (replaces) the bracketed word segment correctly
and completes the sentence meaningfully. Select the option 'no correction required' if the
sentence is correct as given. 

(Because the flight was cancelled), some passengers had to spend the night at the airport.

Ans 1. Because the flight were cancelled

2. Because the flight was cancelling

3. No correction required

4. Because the flights was cancelling

Question ID : 764584996
Status : Answered

Chosen Option : 1

Q.22 The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'. 

The familys home/in Nottingham is amazingly/calm and beautiful.

Ans 1. The familys home

2. calm and beautiful.

3. in Nottingham is amazingly

4. No Error

Question ID : 764584995
Status : Answered

Chosen Option : 1

Q.23 Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully. 

He writes _________ articles, which make the people think about the situation around them.

Ans 1. thoughts

2. thoughtful

3. thinking

4. thinks

Question ID : 764584998
Status : Answered

Chosen Option : 2
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Q.24 Select the word that is opposite in meaning (ANTONYM) to the word given below. 

PLATITUDE

Ans 1. cliché

2. profundity

3. preen

4. banal

Question ID : 7645841002
Status : Answered

Chosen Option : 2

Q.25 Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully. 

She _______ the computer after she noticed it was damaged.

Ans 1. returning

2. returned

3. returnable

4. returns

Question ID : 764584999
Status : Answered

Chosen Option : 2

Q.1 Which of the following is NOT an output device?

Ans 1. Projector

2. Plotter

3. Scanner

4. Monitor

Question ID : 7645841012
Status : Answered

Chosen Option : 2

Q.2 In MS-Word, the term ‘portrait’ is used to represent:

Ans 1. Page orientation

2. Page margin

3. Font style

4. Page size

Question ID : 7645841011
Status : Answered

Chosen Option : 1

Section : Basic Computer Knowledge
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Q.3 Which one of the following is NOT an email service?

Ans 1. ProtonMail

2. Bing

3. Yahoo mail

4. Gmail

Question ID : 7645841007
Status : Answered

Chosen Option : 2

Q.4 Which one of the following is NOT a valid category of computer memory?

Ans 1. Secondary memory

2. Public memory

3. Primary memory

4. Tertiary memory

Question ID : 7645841006
Status : Answered

Chosen Option : 2

Q.5 In MS-Excel, a formula starts with the ______ symbol.

Ans 1. =

2. $

3. &

4. #

Question ID : 7645841013
Status : Answered

Chosen Option : 1

Q.6 In Google Chrome, what is the shortcut key combination to close the current active tab?

Ans 1. Alt + Shift + Tab

2. Ctrl + Shift + Tab

3. Ctrl + W

4. Ctrl +Tab

Question ID : 7645841014
Status : Answered

Chosen Option : 4

Q.7 Which of the following refers to the communication lines used to transmit data between
different major components of a computer system:

Ans 1. Bus

2. Signal

3. Barrier

4. Path

Question ID : 7645841010
Status : Answered

Chosen Option : 1
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Q.8 Which of the following statements is TRUE?

Ans 1. MS-Excel has two wild-card characters ‘*’ and ‘?’.

2. In MS-Excel, a worksheet cannot be renamed.

3. MS-Excel does not have any function for text processing.

4. In MS-Excel, the maximum value from a range of cells can be found using the
MAXIMUM function.

Question ID : 7645841015
Status : Answered

Chosen Option : 4

Q.9 What is the default paragraph alignment in MS-Word?

Ans 1. Justified

2. Left

3. Center

4. Right

Question ID : 7645841008
Status : Answered

Chosen Option : 3

Q.10 Which of the following statement is FALSE with regard to Windows 10?

Ans 1. It was launched in 2015.

2. It is a multitasking operating system.

3. It also has a mobile version.

4. It is not a part of the Windows NT family of operating systems.

Question ID : 7645841009
Status : Answered

Chosen Option : 4

Q.1 How many languages are compulsory for a student to study till grade VIII as per CBSE?

Ans 1. 4

2. 2

3. 3

4. 1

Question ID : 7645841025
Status : Answered

Chosen Option : 2

Q.2 As per CBSE, the test which is designed to provide a measure of performance that is
compared with pre-specified level of accomplishment is known as:

Ans 1. criterion-reference test

2. standardised test

3. prognostic test

4. norm reference test

Question ID : 7645841020
Status : Answered

Chosen Option : 1

Section : Awareness about School Education & Examination Board & its Administration etc.
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Q.3 What is the name of the folder that is prepared by each student at the secondary and senior
secondary levels in which he/she writes about their innermost feelings, about their role
models, their life situations?

Ans 1. Just For Me

2. Students Record

3. Anecdotal Record

4. Teacher's Reference Book

Question ID : 7645841019
Status : Answered

Chosen Option : 3

Q.4 Which of the following does NOT belong to the cities categorised by the CBSE board to fix
centres to conduct board examinations?

Ans 1. Multiple school cities

2. Foreign countries

3. Single school cities

4. Double school cities

Question ID : 7645841024
Status : Answered

Chosen Option : 2

Q.5 How much additional time is permitted for a visually challenged student attending an
AISSCE examination of 3 hours duration?

Ans 1. 30 minutes

2. 60 minutes

3. 15 minutes

4. 45 minutes

Question ID : 7645841023
Status : Answered

Chosen Option : 1

Q.6 What is the term used which refers to the consistency of scores obtained by the same
individuals when re-examined with the same test on different occasions or with different
sets of equivalent items or under other variable examining conditions?

Ans 1. Endurability

2. Reliability

3. Validity

4. Objectivity

Question ID : 7645841018
Status : Answered

Chosen Option : 2
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Q.7 What is the first and foremost quality for the school administrator as per NCERT?

Ans 1. Qualification

2. Punctuality

3. Sincerity

4. Leadership

Question ID : 7645841016
Status : Answered

Chosen Option : 1

Q.8 �कस �कार क� काय� ��थ�तयां कम�चा�रय� और �व�ा�थ�य� को बेहतर प�रणाम �ा�त करने के �लए �े�रत करेगी?

Ans 1. आरामदायक और सुर��त

2. �व�तृत और बंद

3. चमकदार और नया

4. �व�छ और सुग�ठत

Question ID : 7645841017
Status : Answered

Chosen Option : 1

Q.9 What is the minimum attendance expected in a regular course of study?

Ans 1. 60 percent in classes and 75 percent in practicals

2. 75 percent in classes and 75 percent in practicals

3. 60 percent in classes and 60 percent in practicals

4. 75 percent in classes and 60 percent in practicals

Question ID : 7645841022
Status : Answered

Chosen Option : 4

Q.10 Which of the following qualifies a student to appear for the ‘All India/Delhi Senior School
Certificate/Secondary School Examination (AISSCE)’ of the board examinations conducted
by the CBSE board?

Ans 1. A regular student who obtained minimum Grade C in at least 6 subjects of study

2. A regular student who obtained minimum Grade C in at least 5 subjects of study

3. A regular student who obtained minimum Grade D in at least 6 subjects of study

4. A regular student who obtained minimum Grade D in at least 5 subjects of study

Question ID : 7645841021
Status : Answered

Chosen Option : 4
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